## EB-2021-0183:1: Glenda Masters

COST CLAIM NUMBER

SUBMISSION DEADLINE DATE

**CLAIM STATUS** 

2481

January 21, 2025

OTHER EB#S

Approved by Finance

EB#

EB-2021-0183: Initiatives: Regulatory Direction

PHASE #\*

INTERVENOR

and Oversight: Ontario Energy Board

INTERVENOR COMPANY\*

INTERVENOR TYPE

Masters, Glenda; +1 (416) 483-3300

School Energy Coalition, Toronto:

Full Registrant

Glenda@shepherdrubenstein.com

Corporation

HST RATE ONTARIO

13.00

**EXCHANGE RATE** 

COUNTRY

HST NUMBER

LATE SUBMISSION ALLOWED

**EXTENSION DEADLINE DATE** 

83673 5464 RT0001 No

**PARTICIPANTS** 

**Participant** Total (\$) Claim Total New Non-Filing Participant First, Last Name **Filing Participant Status** Hours Nο 8.949.60 24.00 Shepherd, Jay; +1 (416) Submitted

804-2767

jay@shepherdrubenstein.co

**ATTACHMENTS** 

**Document** Import Message Attachment

Туре

SEC EB-2021-0183 Cost Claim 012020251608.pdf

TOTAL LEGAL/CONSULTANT/OTHER FEES

7,920.00

TOTAL DISBURSEMENTS

0.00

**TOTAL HST** 1,029.60

**TOTAL CLAIM** 

8,949.60

**TOTAL AMOUNT AWARDED** 

TOTAL HOURS CLAIMED

24.00

TOTAL HOURS DISALLOWED

**REASON FOR DISALLOWANCE**  **REASON FOR DISALLOWANCE - 2**  **REASON FOR DISALLOWANCE - 3** 

Shepherd Rubenstein Professional Corporation, in Trust

SEND PAYMENT TO ADDRESS

MAKE CHEQUE PAYABLE TO

2200 Yonge Street **Suite 1302** 

Toronto, ON M4S 2C6

**ATTENTION** 

## SUBMIT SECTION

I am a representative of the Party. I have examined all of the documentation in support of this cost claim. The costs incurred and time spent are directly related to the Party's participation in the OEB Process referred to above.

This cost claim does not include any costs for work done, or time spent, by a person that is an employee or officer of the Party as described in section 6.05 and 6.09 of the OEB's Practice Direction on Cost Awards.

The information (fees and disbursements) filed in this cost claim is complete and accurate and in accordance with the OEB's Practice Direction for Cost Awards and Appendix A, the Cost Awards Tariff.

SUBMITTED BY Glenda Masters DATE SUBMITTED January 20, 2025 **CASE** 

EB-2021-0183: Initiatives: Regulatory Direction and

Oversight: Ontario Energy Board

**COST CLAIM** 

EB-2021-0183:1: Glenda

Masters

**INTERVENOR NAME** 

Masters, Glenda; +1 (416)

483-3300

Glenda@shepherdrubenstein

**NON-FILING** 

Submitted

PARTICIPANT L. NAME

FILING PARTICIPANT

Shepherd, Jay; +1 (416) 804-2767 jay@shepherdrubenstein.com

NEW

**PARTICIPANT** 

**NON-FILING** 

PARTICIPANT F. NAME

**PARTICIPANT** 

**CLAIM STATUS** 

**SERVICE PROVIDER TYPE\*** 

Legal Counsel

YEAR CALLED TO BAR\*

1980

**COMPLETED YEARS** 

PRACTICING/YEARS OF **RELEVANT EXPERIENCE\*** 

41

**HST RATE CHARGED\*** 

13.00

CV STATUS (FOR CONSULTANT/ANALYST)

**CV** Required

LAST CV DATE

**OVERRIDE HOURLY RATE** 

**HOURLY RATE** 

330

No

**HST NUMBER** 83673 5464 RT0001 **HEARINGS** 

No

**CONSULTATIONS** 

Yes

**DISBURSEMENTS** 

No

## **CONSULTATION**

Consultation Hours 24.00 Consultations Subtotal (\$) 7,920.00 Consultations Total Tax (\$) 1,029.60 Consultations Total (\$) 8,949.60

<u>Description</u>	Maximum Hours	<u>Hours</u>	Hourly Rate	Sub Total	HST Rate	<u>HST</u>	<u>Total</u>
1 Meeting #1 - July 15, 2021	3.00	3.00	330	990.00	13.00	128.70	1,118.70
2 Meeting #2 - July 28, 2024	3.00	3.00	330	990.00	13.00	128.70	1,118.70
3 Meeting #3 - August 5, 2021	3.00	3.00	330	990.00	13.00	128.70	1,118.70
4 Meeting #4 - August 12, 2024	3.00	3.00	330	990.00	13.00	128.70	1,118.70
5 Meeting #5 - August 19, 2024	3.00	3.00	330	990.00	13.00	128.70	1,118.70
6 Meeting #6 - August 26, 2024	3.00	3.00	330	990.00	13.00	128.70	1,118.70
7 Meeting #7 - September 2, 2024	3.00	3.00	330	990.00	13.00	128.70	1,118.70
8 Preparation of written comments on the draft OEB staff guidance issued October 12, 2021	5.00	3.00	330	990.00	13.00	128.70	1,118.70
Total Legal/Consultant Fees		24.00		7,920.00		,029.60	8,949.60

Attachments

**Attachment** 

EB-2021-0183 Client Fees Listing.pdf

**Document Type** Time Docket Import Message

Hearings, Consultations, Disbursements Attachments

**Attachment** 

EB-2021-0183 Client Fees Listing.pdf

Document Type
Time Docket

<u>Claim Type</u> Consultations **Import Message** 

Date	Explanation	Lwyr	Hours
20210705	Review Board letter, Background research, Many emails	JCS	0.2
20210709	Prepare and circulate Notice of Intervention, Many emails	JCS	0.3
20210713	Scheduling, Review materials	JCS	0.3
20210715	Attend Task Force meeting	JCS	2
20210721	Many emails and scheduling	JCS	0.3
20210723	Review new materials, Various emails	JCS	0.5
20210727	Review agenda and London Hydro website, Various emails	JCS	0.2
20210728	Attend meeting #3, Various emails	JCS	2.1
20210804	Prep for meeting	JCS	0.3
20210805	Various emails re cancelled mtg.	JCS	0.1
20210811	Review meeting presentation, Research, Various emails	JCS	0.5
20210812	Attend meeting, Many emails	JCS	1.5
20210813	Many emails, Scheduling, Lengthy meeting with Gary Michor, Review	JCS	2.2
	London Hydro decision, Email Board re decision		
20210817	Review Board letter	JCS	0.1
20210819	Attend meeting, Review materials, Many emails, Pose liability questions	JCS	2.3
20210825	Various emails	JCS	0.1
20210826	Attend meeting, Review materials, Many emails	JCS	2.8
20210901	Many emails, Review meeting materials	JCS	0.8
20210902	Attend meeting, Many emails, Circulate open bill materials	JCS	2.6
20211012	Review draft guidance and RSC amendments	JCS	0.5
20211019	Review PO #2 and scheduling	JCS	0.2
20211026	Draft submissions	JCS	2.8
20211027	Draft, revise and file submissions	JCS	1.6
20211101	Review final Staff guidance	JCS	0.3
20211109	Many emails re technical working group	JCS	0.3
20211117	Review Board materials, Many emails	JCS	0.3
			25.2